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(20)
19. These are synthesis questions. You need to show how the starting material can be converted into the

product(s) shown. You may use any reactions we have learned provided that the product(s) you draw for
each step is/are the predominant one(s). Show all the reagents you need. Show each molecule
synthesized along the way and be sure to pay attention to the regiochemistry and stereochemistry

preferences for each reaction. Y ou must draw all stereoisomers formed, and use wedges and dashes to
indicate chirality at each chiral center. Write racemic when appropriate.

Recognize that the product
alkyne can be made from the
i) (105 starting alkane by carrying out
the reactions on the "I-35"

2
Z/\ t ; portion of the roadmap.
_—+ ]

1) 3 eq. NaNH,

Br, 2) HCI/H,0
hv Br

Br Br gr

r : Br

Q Br,
H/\ RO >‘/\ / racemic
—_—
E2

«ul] 5

racemic
B) (10 pts) O ? O,OH WOH
-c"’OH OH
Br, Racemic
hv
1,09
or NaOH/H,0
Br
ROe RCO;H
e —_— 0]
E2
(not chiral) (not chiral)

Recognize the product as a trans vicinal diol, that can be made by reacting an epoxide in either acid or
base. The epoxide can be made from cyclohexene by reaction with a peracid. The cyclohexene can be
derived from the standard halogenation/E2 sequence of the "[-35" portion of the roadmap.
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